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= 619,295 619,295 0
= ,011,145 1,003, 145 8,000
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ZHl 10,000 0 10,000
o2 2g H=4 10,000 0 10,000
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= 1,001,145 1,003, 145 22,000
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= 5,500 0 5,500
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01 XHXISHHAE X 215,000 250,000 35,000
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= 215,000 250,000 35,000
SOINSAE &1 ¥ BAYSAL e 700,000 700,000 0
2 350,000 350,000 0
< 350,000 350,000 0
207 1IN Y| 10,000 0 10,000
= 5,000 0 5,000
< 5,000 0 5,000
02 & AN 10,000 0 10,000
OJAEY SHBIAAY ML 10,000 0 10,000
2 5,000 0 5,000
= 5,000 0 5,000
401 AlEHIL LT 480,000 480,000 0
= 240,000 240,000 0
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01 Al 465,744 465,744 0
Osgzza 22 0 30,000 30,000
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= 0 15,000 A 15,000
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< 15,000 0 15,000
OJIMEE SSBIAAY SXIZA 5,000 0 5,000
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ME THROHY XA 1,865,686 2,434,936 A569,250
= 185,000 185,000 0
= ,120,000 1,660,000 540,000
= 1,468 1,468 0
= 559,218 588,468 A 29,250
HSHE LS5 Y & s 387,936 389,936 22,000
&2 1,468 1,468 0
S 386,468 388,468 A2,000
307 QI12t0I & 58,000 60,000 22,000
04 BIZHHAIE £ 38,000 40,000 A2,000
OMEINSE AIHEAIY 2 38,000 40,000 A2,000
ddst sEME =4 115,000 142,000 A27,000
403 A XIEHSXH=01H 85,000 112,000 A27,000
01 XM= E X 85,000 112,000 A27,000
Oszdgad Dl 10,000 37,000 A27,000
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307 QI2t0IA 4,750 5,000 A 250
04 QIHHALE X 4,750 5,000 A 250
OfitsEatd =2 4,750 5,000 A 250
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